
  

 

 

U.G. DEGREE EXAMINATION –  
DECEMBER 2023. 

Corporate Secretaryship / Accounting and Finance  

Third Year 

BUSINESS FINANCE 

Time : 3 hours Maximum  marks : 70 

SECTION A — (3 × 3 = 9 marks) 
Answer any THREE questions. 

1. Write any two functions of business finance.  
 ÁoP {v°ß H÷uÝ® Cμsk ö\¯À£õkPøÍ 

GÊuÄ®. 

2. What is Term loan?  
 Põ»Phß GßÓõÀ GßÚ? 

3. What is cost of capital? 
 ‰»uÚzvß Âø» GßÚ? 

4. What is working capital? 
 £o ‰»uÚ® GßÓõÀ GßÚ? 

5. What do you mean by dividend? 
£[Põuõ¯® GßÓõÀ GßÚ? 
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SECTION B — (3 × 7 = 21 marks) 
Answer any THREE questions. 

6. What is the objectives of business finance? 

 ÁoP {v°ß ÷|õUP[PÒ GßÚ? 

7. Distinguish between equity shares and 
debentures.  

 DUÂmi £[SPÒ ©ØÖ® Phß £zvμ[PøÍ 
÷ÁÖ£kzxP. 

8. List out the features of a capital structure. 
 J¸ ‰»uÚ Pmhø©¨¤ß A®\[PøÍ £mi¯¼kP. 

9. Calculate (a) Average collection period (b) Debtors 
turnover from the following particulars. Credit 
sales Rs.2,70,000, Return inwards Rs.20,000 
Debtors at the beginning Rs. 55,000. Debtors at 
the end Rs.45,000, provision for doubtful debts 
Rs.5,000 and Assume number of days in a year  
is 360. 

 (A) \μõ\› Á`À Põ»® (B) PhÚõÎPÎß Á¸Áõ´ 
¤ßÁ¸® ÂÁμ[PÎ¼¸¢x PnUQhÄ®. Phß 
ÂØ£øÚ ¹.2,70,000, EÒ÷|õUQ v¸®£ ¹.20,000 
PhÚõÎPÒ öuõhUPzvÀ ¹.55,000 PhÚõÎPÒ 
CÖv°À ¹.45,000. Áμõ I¯U Phß JxUS  
¹. 5,000 ©ØÖ® J¸ Á¸hzvÀ |õmPÎß 
GsoUøP 360 GßÖ øÁzxUöPõÒ÷Áõ®. 

10. Give various forms of dividends. 
 DÄzöuõøP°ß £À÷ÁÖ ÁiÁ[PøÍU öPõk[PÒ. 
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SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions. 

11. Discuss the significance of finance function. 

 {vaö\¯À£õmiß •UQ¯zxÁzøu¨ £ØÔ 
ÂÁõvUPÄ®. 

12. Veera Ltd. offers for public subscription equity 
shares of Rs. 10 each at a premium of 10%. The 
company pays an under writing commission of 5% 
on the issue price. The equity shareholder expect a 
dividend of 15%. (a) Calculate the cost of equity 
capital. (b) Calculate the cost of equity capital, if 
the market price of the share is Rs.20.  

 Ãμõ ¼ªöhm 10% ¤Ÿª¯zvÀ u»õ ¹.10 
ö£õx\¢uõ DUÂmi £[SPøÍ ÁÇ[SQÓx. 
öÁÎ±mk Âø»°À {ÖÁÚ® 5% GÊu® 
PªåøÚ ö\¾zxQÓx. DUÂmi £[Suõμº 15% 
DÄzöuõøPø¯ Gvº£õºUQÓõº. (A) £[S 
‰»uÚzvß AhUP Âø»ø¯U PsUQk[PÒ.  
(B) £[SPÎß \¢øu Âø» ¹.20 GÛÀ, £[S 
‰»uÚzvß AhUP Âø»ø¯U PnUQhÄ®. 

13. What are the determinant of capital structure of a 
company? Explain them. 

 J¸ {ÖÁÚzvß ‰»uÚ Pmhø©¨ø£ wº©õÛ¨£x 
GßÚ? AÁØøÓ ÂÍUS[PÒ. 
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14. Explain briefly the different sources of working 
capital. 

 £o ‰»uÚzvß öÁÆ÷ÁÖ ÁÍ[PøÍ _¸UP©õP 
ÂÍUPÄ®. 

15. The earnings per share of a company are Rs.10. 
The rate of capitalisation is 10% and the retained 
earnings can be employed to yield a return of 20%. 
The company is considering a pay out of (a) 20% 
(b) 40% (c) 60%. Which of these would maximise 
the wealth of the shareholders as per Walter’s 
model? 

 J¸ {ÖÁÚzvß J¸ £[Qß Á¸Áõ´ ¹.10, 
‰»uÚ©¯©õUPÀ ÂQu® 10% ©ØÖ® 20% 
Á¸©õÚzøu DmhuUP Á¸©õÚ® 
£¯ß£kzu¨£h»õ®. {ÖÁÚ® (A) 20%  (B) 40% 
(C) 60% Fv¯zøu £›^¼zx Á¸QÓx. CÁØÔÀ 
Gx ÁõÀh›ß ©õv›°ß £i £[SuõμºPÎß 
ö\ÀÁzøu AvP¨£kzx®? 

16. List out the different types of preference shares. 

 £À÷ÁÖ ÁøP¯õÚ •ßÝ›ø© £[SPøÍ 
£mi¯¼k[PÒ. 

17. Explain factors affecting the dividend decision. 

 DÄzöuõøP •iøÁ £õvUS® PõμoPøÍ 
ÂÍUS[PÒ. 

––––––––––––––– 



  

 

 

U.G. DEGREE EXAMINATION –  
DECEMBER 2023. 

Corporate Secretaryship   

Third Year 

INCOME TAX 

Time : 3 hours Maximum  marks : 70 

PART A — (3 × 3 = 9 marks)  

Answer any THREE questions out of Five questions in 
100 words. 

All questions carry equal marks. 

1. Define income Tax 
 Á¸©õÚ Á› Áøμ¯ÖUP.  

2. What is Income from House Property? 
 Ãmka ö\õzx ‰»® Á¸©õÚ® GßÓõÀ GßÚ? 

3. Define Business. 
 ÁoP® Áøμ¯ÖUP. 

4. What do you mean by Income from other sources? 
 ¤Ó Buõμ[PÎÀ C¸¢x Á¸©õÚ® GßÓõÀ GßÚ? 

5. What is TDS? 

 TDS GßÓõÀ GßÚ? 
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PART B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. What are the various perquisites available for 
employee? Explain. 

 £o¯õÍ¸USU QøhUS® £À÷ÁÖ \¾øPPÒ 
GßÚ? ÂÍUSP. 

7. What is the basic computing of income from house 
property? Write with examples. 

 Ãmka ö\õzvß Á¸©õÚzvß Ai¨£øhU PnURk 
GßÚ? Euõμn[PÐhß GÊxP. 

8. What is Salary? Elaborate the features of Salary. 

 \®£Í® GßÓõÀ GßÚ? \®£Ízvß A®\[PøÍ 
ÂÁ›UPÄ®.  

9. State the provisions of the Income Tax act 
regarding gratuity received. 

 ö£Ó¨£mh £oUöPõøh öuõhº£õÚ Á¸©õÚ 
Á›a\mhzvß ÂvPøÍU SÔ¨¤hÄ®.  

10. List out the deductions from gross total income. 

 ö©õzu Á¸Áõ°¼¸¢x Â»USPøÍ 
£mi¯¼k[PÒ.  



 UG-C-2265 3

PART C — (4 × 10 = 40 marks)  

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. Mr. Malan who is handicapped provides the 
following information. Compute the taxable 
income of Malan for the Assessment Year 2017-18. 
Rs. Salary per annum 1,30,000 Interest on 
Savings Bank Account 15,000 Interest on 
Government Securities 4,000 LTCG 40,000  
STCG 10,000 Winnings from lotteries 20,000 
Deposit in PPF 40,000 NSC (VIII) purchased 
during the year 20,000. 

 FÚ•ØÓ v¸. ©õ»ß ¤ßÁ¸® uPÁø» 
ÁÇ[SQÓõº. 2017&18 ©v¨¥mk BsiØPõÚ 
©õ»Ûß Á›US›¯ Á¸©õÚzøuU PnUQk[PÒ. 
BskUS \®£Í® ¹.1,30,000 ÷\ª¨¦ 
Á[QUPnUQÀ Ámi 15,000 Aμ_¨£zvμ[PÒ 
«uõÚ Ámi 4,000 LTCG 40,000 STCG 10,000 
»õmh›PÎÀ C¸¢x öÁØÔPÒ 20,000 PPF&À 
öh£õ]m 40,000 NSC Áõ[SuÀ (VIII) 20,000 
|h¨¦ BsiÀ. 

12. Compute Income from Other Sources from 
particulars given below: Rs. Interest on deposits 
with a company 10,000 University remuneration 
for working as examiner 6,000 Royalty for writing 
books 60,000 He claims to have spent Rs.20,000 on 
writing these books Dividend received from Public 
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Sector Company Rs.3,000 and collection charges 
for dividend received Rs.300 Rent from letting 
machinery Rs.5,000 p.m. Depreciation on 
machinery Rs.10,000. Repairs on machinery  
Rs.5,000 Rent form letting plot of land 2,000 p.m. 
Stake money on racehorses 1,50,000 Horses are 
maintained by him and expenses on maintenance 
of these horses are 2,40,000 Family pension 
received 36,000. 

 R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x ¤Ó 
Buõμ[PÎÀ C¸¢x Á¸©õÚzøu PnUQk[PÒ: 
J¸ {ÖÁÚzvÀ øÁ¨¦z öuõøPUPõÚ Ámi 
¹.10,000 £ÀPø»U PÇP ÷uºÁõÍμõP¨ 
£o¦›¢uuØPõÚ Fv¯® 6,000 ¦zuP[PÒ 
GÊxÁuØS μõ¯Ài 60,000 AÁº ¹.20,000 C¢u 
¦zuP[PøÍ GÊx® ÷£õx ö£õxzxøÓ 
{ÖÁÚzvhª¸¢x ö£Ó¨£mh iÂöhsm ¹.3,000 
©ØÖ® DÄzöuõøPUPõÚ Á`À Pmhn® ¹.300 
ö»mi[ C¯¢vμ[PÎ¼¸¢x ÁõhøP ¹. 5,000 
©õø» C¯¢vμ[PÒ «uõÚ ÷u´©õÚ® ¹.10,000. 
C¯¢vμ[PÒ £Êx£õºUP ¹.5,000 ÁõhøP £iÁ® 
AÝ©vUS® {»® 2,000 p.m. £¢u¯U 
SvøμPÐUPõÚ £[S¨ £n® 1,50,000 SvøμPÒ 
CÁμõÀ £μõ©μUP¨£mk Á¸QßÓÚ, C¢uU 
SvøμPøÍ¨ £μõ©›US® ö\»Ä 2,40,000 Sk®£ 
K´Åv¯® ö£Ó¨£mhx 36,000. 

13. Which of the following incomes are taxable when 
the residential status of Mr. Krishna Murthy is: 
(a) Resident (b) Not Ordinarily Resident  
(c) Non-Resident (i) Income accrued in agriculture 
in Bangladesh but received in India Rs.1,80,000. 
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(ii) Rs.10,000 earned in Africa and received there 
but brought to India. (iii) Rs.12,000 earned in 
India but received in Canada. (iv) Rs.1,20,000 
earned and received in Srilanka from business 
controlled from India. (v) Income from House 
property situated in Pakistan. Rs.15,000.  
(vi) Gift in cash from a relative received in India 
Rs.60,000 (vii) Profits earned from a business in 
Kanpur Rs.15,000. (viii) Interest on saving Bank 
Deposit in SBM. Delhi. Rs.11,200. 

 v¸. Q¸èn‰ºzv°ß Si°¸¨¦ A¢uìvÀ 
¤ßÁ¸® Á¸©õÚ[PÎÀ Gx Á›US Em£mhx: 
(A) Á]¨£Áº (B) \õuõμn©õP Á]¨£Áº AÀ» 

(C) Si²›ø© ö£ÓõuÁº (i) Á[P÷u\zvÀ 
ÂÁ\õ¯zvÀ Qøhzu Á¸©õÚ®, BÚõÀ 

C¢v¯õÂÀ ¹.1,80,000. (ii) ¹.10,000 
B¨¤›UPõÂÀ \®£õvzx A[S ö£ØÖUöPõshõº 
BÚõÀ C¢v¯õÂØS öPõsk Áμ¨£mhõº.  

(iii) ¹.C¢v¯õÂÀ \®£õvzu 12,000 BÚõÀ 

PÚhõÂÀ ö£Ó¨£mhx. (iv) ¹.1,20,000 
C¢v¯õÂÀ C¸¢x Pmk¨£kzu¨£k® 
ÁoPzv¼¸¢x C»[øP°À \®£õvzx ö£ØÓõº. 

(v) £õUQìuõÛÀ Aø©¢xÒÍ Ãmkaö\õzv¼¸¢x 

Á¸©õÚ® ¹.15,000. (vi) C¢v¯õÂÀ EÒÍ 
EÓÂÚ›hª¸¢x £n©õP¨ ö£Ó¨£mh £›_ 

¹.60,000 (vii) Põß§›À ÁoP® ‰»® Dmh¨£mh 

»õ£® ¹.15,000 (viii) Gì¤G®ªÀ Á[Q (öhÀ¼) 
øÁ¨¦a ÷\ª¨¤ØPõÚ Ámi ¹.11,200. 
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14. Mr. X purchased a house in May 1984 at a cost of 
Rs.40,000. In June 1988 he added two rooms at a 
cost of Rs.30,000. In June 2016 he sold the house 
for Rs.6,00,000 and paid Rs.10,000 as brokerage. 
He purchased a new house at a cost of Rs.2,00,000 
on 10th March 2017. Compute the capital gains for 
the Assessment Year 2017-18. 

 v¸. μõ® Gß£Áº ÷© 1984 CÀ ¹.ö\»ÂÀ J¸ 
Ãmøh Áõ[QÚõº. 40,000. áüß 1988 CÀ AÁº 
Cμsk AøÓPøÍ ¹.30,000. áüß 2016 CÀ AÁº 
Ãmøh ¹.6,00,000 ©ØÖ® ¹.10,000 uμS. ¹.1,000 
ö\»ÂÀ ¦v¯ Ãk Áõ[QÚõº. ©õºa 10, 2017 
AßÖ 2,00,000. 2017&18 ©v¨¥mk BsiØPõÚ 
‰»uÚ Buõ¯[PøÍU PnUQk[PÒ.  

15. Write a short note on Income from other sources 
with examples. 

 ¤Ó Buõμ[PÎÀ C¸¢x Á¸©õÚzøu 
GkzxUPõmkPÐhß ]Ö SÔ¨¦ u¸P.  

16. Highlight the Income exempt from Tax. 

 Á›°¼¸¢x Á¸©õÚ Â»US Gß£øu SÔzx 
ÂÍUPÄ®. 

17. Explain the provisions relating to Agricultural 
income in Income tax act 1962. 

 Á¸©õÚÁ›a \mh® 1962 CÀ ÂÁ\õ¯ Á¸©õÚ® 
öuõhº£õÚ ÂvPøÍ ÂÍUPÄ®.  

 

––––––––––––– 


